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Q I (A) Read the following passage and answer the questions given below:      10 

 About the two thousand and five hundred years ago, Persia was a mighty kingdom. 
This large army had landed in the town of Marathon. Their target was Athens, a city state 
in Greece. Athens had a small army compared to the Persia one. But the Athenian soldiers 

very brave. They had faced the Persian before, but they needed help from other Greek 
kingdoms now. They decided to send a special messenger to the neighboring kingdom of 

Sparta. His name was Pheidippies. 
   Pheidippies, was a young man who served as a day- long sunner. He ran to …… like 
wind. He covered of nearly a hundred kilometers in a day. But alas! The people of Sparta 

were busy with some ceremonies. They did not want to join the battle immediately. 
Pheidippies took this message back to Athens with a heavy heart, but on light feet. Again, 
he ran a hundred kilometers within a day. 
 

Questions: 

1) State whether the following statement is ‘True’ or ‘False’.          (1) 

i) Pheidippies was a brave Athenian soldier.  
 

2) Name a mighty kingdom mentioned in the passage.          (1) 

 
3) Give the antonyms of :               (2) 

i) heavy   ii) large 
 

4) Use the following phrase in sentence of your own :           (1) 

i) with a heavy heart  
 

5) Write the abstract noun form of :                  (2) 

i) king  ii) brave  

6) Underline the predicate :                   (1) 

i) The Athenian soldiers were very brave.  

7) Where did the army of Persia land ?             (1) 

8) Why did the people of Sparta not cooperate with the Athenians?         (1) 

 

Q. I (B) Read the following passage and answer the questions given below:            (10) 
 

Our story has three brothers who lived in a small town but they were all three 
of them honest, kind and hardworking. The elder one ran a stop, the middle one was 

a priest and the youngest one had just finished his education. He had started taking 
up odd jobs to earn some money and learn a trade. All three of them were fond of 
their mother. She had worked hard to bring up three of them after the sudden death 

of their father.  
 One day, their friend’s father visited the mother. He said, “ Sister you know 

that I have a very prosperous business. But I am getting old, my only daughter is of a 
marriageable age. I am looking for a son – in – law who would be good husband to my 
daughter and who would also handle my business well. I like all your sons. If you 

permit, I’ll marry my daughter to one of them but before that I have a plan.”  
 
 

Questions: 

1) Fill in the blanks by choosing the correct word from the passage.       (1) 

i) The mother work hard to bring up her three sons after death of their ______.  

2) Change the gender of the given words?            (1) 

i) brother  ii) daughter  

3) Complete the degrees of comparison :                        (1) 

i) __________   __________ youngest 



4) Underline the adjectives in the given sentence.           (1) 

i) The old man had a prosperous business. 

5) Write the adverb forms of :               (2) 

i) sudden   ii) odd  

6) What common qualities did the three brother have?          (1) 

7) What was the businessman looking for? Why?           (2) 

 

Q.II (A) Read the following extract carefully and answer the questions given below:(10) 
 

 Maharaja Rudra Pratap ruled over Magadh. One day he was riding along with his 

ministers. Suddenly a stone hit him on his forehead causing a deep cut. Drops of blood fell 
from his forehead on his clothes. His minister ran after the man and caught him.  

 “Why did you throw the stone at me ?” the Maharaja asked. The man said, “ I threw 
the stone at an apple on a tree, your Majesty. Unfortunately it fell on you kindly forgive 
me.” The ministers were surprised for the Maharaja did not punish the poor man. He put 

his hand into his pocket, took out a gold coin and gave it to the poor man.   
 

Questions: 

1) Complete the sentence :              (1) 

i) The blood fell from the kings forehead ____________. 

2) Who said to whom?              (1) 

i) “Why did you throw the stone at me?” 

3) Use the following word in sentence of your own :          (1) 

i) punish  

4) Underline the verbs in the given sentence :           (1) 

i) His ministers ran after the man and caught him. 

5) Who ruled over Magadh?              (1) 

6) Where did the man throw the stone?            (1) 

7) What did the Maharaja do that surprised the ministers?         (2) 

8) Write four nouns from the passage.            (2) 

 

Q.II (B) Read the following passage carefully and answer the questions given      

            below:               (10)                     

 A large population of our country depends upon fish and other sea foods like 

prawns and shrimps. 

 Rearing of fish artificially in tanks and ponds is known as pisciculture. Most 

states have a fishery department. The Department of Fisheries provides information and 

train people to rear fish. It also provides young ones of fish and prawns. Pisciculture is a 

profitable occupation. The fish reared in the ponds is harvested and sold. 

 Rearing of bees artificially is called apiculture. Honey produced by bees is a 

valuable source of food (carbohydrate). It is also used for making certain medicines. 

Beeswax from the honey comb is used to make cosmetics.      
 

Questions: 

1) Name two sea foods mentioned in the passage.            (2) 

2) State the gender of the given words :             (1) 

i) people   ii) honey 

3) What is pisciculture?               (1) 

4) What work does the Department of Fisheries do ?           (1) 

5) What is apiculture ?               (1) 

6) What is made from beeswax?              (1) 

7) Give two uses of honey.               (2) 
 

Q. III (A) Do as directed:             (10) 
 

1) Keep quiet _______ leave the room.  

    (Fill in the blank with a suitable conjunction). 
         2) I want a glass ______ milk. (Fill in the blank with preposition). 

         3) ________ old man had _______ son who was _____ architect.  

            (Fill in the blank with ‘a’ , ‘an’ or ‘the’ ) 

    4) It was the ______ (larger) building in the whole country. 

       (Fill in the blank with the correct form of the adjective given in the bracket) 



         

         5) ______ is one of the brightest boys in the class . 

             (Fill in the blanks with suitable personal pronoun) 

         6) ________! What a beautiful sight !  

            (Fill in the blank with interjection) 

         7) The children are waiting outside. 

           (Pick out the adverb and state its kind) 

         8) i) deer   ii) lady  

          (Write plurals of the given nouns)  

     9) i) fresh    ii) correct 

         (Write opposite for the given words) 

   10) Narendra Modi ___________________________________________ . 

     (Supply a suitable predicate for the given subject) 

 

Q. III(B) Identify the figures of speech :            (5) 

             1. Boy boy boy, you are tending to your joy. 

             2. Her teeth sparkled like jewels. 

             3. If you wrong us, shall we not take revenge? 

             4. How cruel an act is that! 

             5. Beautiful is that red roses. 

Q. IV (A) Read the extract of the poem and answer the questions given below:        (5) 

 See the lilies, round and large, 

 Floating near the reedy marge, 
 Where the bulrush has its place,  

 And the heavy water-mace. 
 

 See the great green dragonfly, 

 And the swallow skimming by, 
 See the fishes spring and gleam, 
 Ere they splash into the stream. 
 
 

Questions: 

  1) What are round and large?              (1) 

  2) What springs and gleams?              (1) 

  3) List the plants mentioned in the poem.              (1) 

    4) With the help of the information in the passage write what the following do :       (1) 

i) lilies   ii) swallow 

    5) Write the rhyming words from the first stanza.       
 

Q. IV (B) Read the extract of the poem and answer the questions given below:      (5) 

 The man in the Moon as he sail the sky  
  Is a very remarkable skippers. 

 But he made a mistake when he tried to take  
 A drink of milk from the Dipper.  

  
He dipped right out of the Milky way, 

 And slowly and carefully filled it, 

 The Big Beas growled, and the little Bear howled   
 And frightened him so that he spilled it ! 
 

Questions: 
 

1) Match the following :               (1)   
Column A   Column B              
i) Moon sails   a) howled 

ii) The little Bear  b) growled  
    c) across the sky  

2) Find a word from the extract which means :           (1) 
i) Captain of a ship or boat 

     3)  What mistake did the man in the moon make?           (1) 

     4)  What did he try to take the milk from?                                   (1) 
     5)  Give rhyming words of your own for :             (1) 

          i) bear   ii) made 
 



                                          Writing skills. 
 

Q.V (A) You went to the shopping mall with your friend. Your friend gets kidnapped.   
            You lodge a complaint at the police station. Write a dialogue between you and  

            the policeman giving information about the kidnappers.                          (4) 
        
 

Q.V (B) You had been issued a book from the school library but due to some reason                                                                                         
     you lost the book. Write a letter to the school librarian informing her about      
     the same.                  (4) 

          
 

Q.V (C) Write a paragraph on any one of the following topics: (10 to 12 sentence)     (4) 
 1. My favorite movie. 
 2. Importance of a good library in a school . 

 3. My school. 
 
Q.V (D)Write a story from the given outline. Give suitable title and write the moral of  

         the story.                         (3) 
Lazy grasshopper laughs at a little ant – she is always busy gathering food – 

grasshopper sings and dances all day long – winter comes – ant settles down in her house – 
has plenty of food to last the whole winter – grasshopper has nothing to eat – begs her for a 
little corn – ant refuses him.   

 
 

  
  

 

All the best 
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QI a) Define  :                  (5) 

1) Right angle   

2) Equivalent Fraction    

3) Diameter   

4) Prime number  

5) Decimal fraction   

      b) Solve ( any 5) :                (5) 

         1)    9         

       11        22              

         2)    5         2 

       8         8           

         3) Rs. 79.5 = _________ rupees _______ paise.               

         4) __________ is neither a prime number nor a composite number.          

         5) 1 metre = ____________ centimetre.           

         6)  of 40 pens = _________ pens. 

 

Q II Solve the following (any 7)            (14) 

        1) Convert the following fractions in to like fractions.  

  5      4 

  6      5        

        2) Write the proper symbol < , > or = :        

             a)    2      10 

  11      11  

            b)    4       4 

          7      11   

        3) Draw and explain the perpendicular lines with the help of a diagram :    

        4) Measure the angles given below and write their measures : 

 

 

 

 

                

        5) Calculate the length of the radius of a circle with diameter 12 cm using formula.  

           
       6) Find the square number from the list given below :  

    5, 9, 12, 16, 50, 60, 64, 72, 80, 81, 90, 105.   
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        7) Write the following numbers using decimal point :            

 i) Nine point zero eight  

           ii) Two hundred sixty seven and five three  

         8) Draw and explain acute angle. 

        

Q3 Solve the following  :  (any five)           (15) 

       1) Write the following fractions and mixed fractions in decimal form :         

             a)    47         b)         5      c)     1 

  100                 100               10 

       2) The time below is given by 12 hour clock write the same time by 24 hour clock : 

   i) 40 minutes past 11 in the morning  

  ii) 3’ o clock in the afternoon  

          iii) 20 minutes past 7 in the evening                 

       3) Draw the angles of following measures and label them :  

         a)  60°          b)100°              

       4) Compare the following fractions :  

        2    7 

   3    8 

      5) Observe the given figure and write the names of arcs that are made by points E, F, G     

          and H. 
 

 

  

 

     6) Draw the clock to show the time : 

 i) 30 minutes past 4.  

 ii) Quarter past 7.                  

Q 4 Solve the following : ( any 4)             (16) 

       1) Convert the following in to decimal fraction and add them :      

   i) ‘Forty six and half metres’ and ‘three and quarter metre’. 

  ii) ‘Five and three quarter rupees’ and ‘seven and quarter rupees’.  

       2) a) What is       of 20 rupees? 

          

b) Add            + 

 

 

 

 

             



 

       3) i) Complete the following table by filling in the blanks  :       

            
 

Radius  
      

4cm 
      

7cm 
 

 

Diameter  
  

12cm 
  

32cm 

 

           ii) Write the factors of the following numbers : 
  a)  14     b)  33     
 

      4)   i)  Add          : 209.37 +  32.8  
   ii) Subtract   : 39.08   -  2.60 

        

       5) a) Write two numbers which are multiple of 2 as well as 5. 

           b) Write the test of divisibility by 5. 

 

Q5 Solve the following : (any 5)            (25) 

       1) a)Classify the prime and composite number from the list given below :  

      22, 34, 57, 89, 59, 79. 

          b) Write how many rupees in decimal from  

      i) seventy six rupees fifty paise  
     ii) fifteen rupees five paise               
 

      2)  a) I travelled for 5 hrs 20 min by train and 3 hrs 50 min by bus. What was the 

              total time of my journey?              
 

           b) Add : 4 hrs 15 min  +   2 hrs 50 min              

       
      3) a) Draw the correct number of dots for the next three triangular numbers and write  
             the triangular number in the boxes.        

        
 

 
 
 

 
 

 
 
 

   b) Write the following decimal numbers in words :  
       i) 39.091  
      ii) 74.08  

  
       4) a) Write the place value of the digits of the decimal numbers in the place value  

               chart:              
      Number : 497.23  

 

Digit 
     

 

Place  
     

 

Place value  
     

 
 b) Subtract : 5 hrs  12 min – 2 hrs 36 min         

 
 
 

 

 

             ● 
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       5)  Fill in the blanks :           

  
          i) 12 x 6    = _________    Vi) 12 x 2 = ___________ 

         ii)  9 x 9  = _________   Vii) 23 x 4 = ___________ 

        iii) 17 x 3   = _________   Viii) 22 x 5 = ___________ 

        iv) 14 x 8  = _________     ix) 13 x 9 = ___________ 

          v) 15 x 4  = _________      x) 8 x 7  = ___________ 

        

          6)  Answer the questions with the help of the given diagram.     

 a)   

                                                          i) In the interior of the circle. 

       ii) In the exterior of the circle. 

      iii) On the circle.  

 

 
              b)  Draw a circle of the radius 3 cm. (label its diameter and radius).    
 

 

 All the best  
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Q1A)  Fill in the blanks:                                                                                  (6) 

         1)  Konkan lies in the ___________ part of India . 

       2)  Before water is supplied to a town or city .It is ___________ . 

       3)  The variety we see in all the living things that belong to a particular area  

             is called the ____________ of that place . 

      4)  The output of textile industry is _____________ . 

      5)  We should make all the possible efforts for __________ of the living . 

      6)  If we cannot control our __________ , it can have adverse effect on our 

            body and  mind . 

                        

QIB )   Match the column :                                                                            (4) 

                     A                                                                                    B 

      1)   Over watering                                                              a)   bedsheets 

      2)   Solapur                                                                          b)   Flamingo 

      3)    Mayani                                                                         c)    pulses 

      4)    Protiens                                                                       d)    saline  

QIC)  Write true or false .Correct the false statement :                          (5) 

     1)  The Sahyadri mountains are located in the southern part of India . 

     2)  We get rain throughout the year . 

     3)   Nature cannot quench man’s greed . 

     4)  Plants use Oxygen to prepare their food . 

     5)  If food does not contain enough fibre  it can lead to constipation . 

QIIA)  Name the following  :                                                                         (4) 

         1)  Any two cycles in the environment . 

       2)  Any two emotions expressed by face . 

QIIB)   Answer the following  in one word  :                                             (4) 

        1)  Write the full form of CNG .                                                

        2)  For which textile product is Paithan famous ?. 

        3)  By which means are the artificial satellite launched into space ? 



        4)  Which mountain has defined the northern boundary of India ? 

 

 

QIIC)  Answer the following in one sentence :                                         (5) 

         1)  What are the different methods of preserving food ? 

        2)  What is balanced diet ? 

        3)  How do we overcome selfishness ? 

        4)  Which foodstuffs spoils most quickly ? 

        5)  What are carbohydrates ? 

QIIIA)  Answer in brief (Any 3)                                                                     (6) 

          1)  Which part of plants do we use as food?  

        2) Write down any four remedies for reducing pollution . 

        3)  Write down the educational uses of mass media. 

        4)  How does water pollution takes place ? 

QIIIB)  Give reasons :                                                                                      (4) 

        1)  Milk and eggs are carefully stored and then sent to their users  . 

        2)   Boiled egg is one of the best nourishing foods  . 

 QIIIC)  Define (Any 1)                                                                                     (2) 

          1)  Air pollution               2)   Migration 

QIVA)  Write the solution for the following:                                             (2) 

          1)  The plant in the pot is not growing well. 

QIVB) Draw                                                                                                      (2)                                       

          1) Any two foodstuff containing carbohydrates 

         2) Any two foodstuff containing proteins . 

QIVC)  Show the following details on a map.                                           (2) 

         1) A state famous for Kanjeevaram saree . 

         2) A state famous for Patola Silk saree . 

  

 

                                ALL THE BEST 
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QIA)   Fill in the blanks:                                                                                  (5) 

     1)   ___________ are the most evolved animals among vertebrates. 

    2)   Neanderthal is a place in _______________. 

    3)    ___________ near Nashik is a well-known Old Stone Age site in 

              Maharashtra.           

    4)   The Homo sapiens cleared ___________ by felling trees. 

    5)   Archaeological evidence shows that agriculture first began about 11,000                                                                              

           years ago in Israel and _________. 

QIB)    Match the column:                                                                             (5) 

                        A                                                               B 

      1)  Dinosaur                                         a) brought revolution in the technique of  

                                                                          making tools 

      2)  Neanderthals                                 b) used to erect tents 

      3)  Homo sapiens                                c) terrible lizard 

      4)   Animal hides                                 d) domesticated in the Middle Stone Age  

      5)  Dog                                                  e) primarily lived in caves 

QIC)   Write whether True or False:                                                            (5) 

     1)  Animals which live in water and also on land are called mammals.  

   2) ‘Homo‘ is a Latin word which means man. 

   3)  Hathnora is a village in Rajasthan.  

   4)  The Homosapiens moved their camps to different places according to                

            seasonal changes. 

   5)  The houses at the beginning of the New Stone Age were made of cement.  

QIIA) Answer in one sentence:                                                                    (7) 

     1)  Which were the animals hunted by the Homo sapiens? 

     2)  What is heredity? 

     3)  What physical changes came about in the Homo sapiens sapiens? 

     4)  What is the characteristic feature of New Stone Age culture? 

     5)  What are reptiles? 



     6)  What is an aquatic animal species? 

     7)  What is the meaning of evolution? 

 

 

 

QIIB)   Give reasons for the following:                                                       (4) 

       1)  The tools made in the Old Stone Age were crude. 

      2)  Village settlements emerged in the New Stone Age. 

QIII)   Answer in Brief:                                                                                   (6) 

     1)  What are the three main steps in the process of domesticating wild animals? 

    2)  Write about the structure of houses at the beginning of the New Stone Age. 

    3)  How did man use the percussion technique? 

  

 

                                   ALL THE BEST 
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Izk- 1 ifBr xn~;ka”k ds vk/kkj ij uhps fn, x, iz”uksa ds mRrj fyf[k,  %    5 

Ckgqr iqjkuh ckr gS A Qqysjk uked ,d vknZ”k xk¡o FkkA xk¡o esa gj rjQ LoPNrk FkhA xk¡o dh 

xfy;ksa esa fu;fer :Ik ls >kMw yxkbZ tkrh FkhA ukfy;k¡ jkst lkQ dh tkrh FkhaA fyikbZ & iqrkbZ djds 

?kj vk¡xu lqanj j[kk tkrk FkkA ifjlj esa cMh la[;k esa isM & ikS/ks FksA dq,¡ dk ikuh fueZy j[kus ds 

fy, vko”;d lko/kkfu;k¡ cjrh tkrh FkhaA iu?kV LoPN vkSj lqlfTtr FkkA 

Izk I fuEufyf[kr iz”uksa ds mRrj ,d & ,d iw.kZ okD; esa fyf[k, A 

    v½ ?kj & vk¡xu fdl rjg lqanj j[kk tkrk Fkk \       1 

    c½ ifjlj esa cMh la[;k esa D;k Fks \         1 

    l½ dq,¡ dk ikuh fueZy j[kus ds fy, D;k fd;k tkrk Fkk \          1 

Izk II- fjDr LFkkuksa dh iwfrZ dhft, % 

 v½ xk¡o esa gj rjQ          FkhA         1 

 c½ iu?kV LoPN vkSj          FkkA         1 

 

Izk- 2 ifBr xn~;ka”k ds vk/kkj ij uhps fn, x, iz”uksa ds mRrj fyf[k,  %    5 

 fdlh unh ds fdukjs ,d cht iMk FkkA og cgqr NksVk FkkA ogk¡ ,d fpfM;k vkbZA og pksap 

ekjdj cht dks [kkus yxhA rc cht cksyk & Þ:dh jgks] :dh jgks tehu esa xMus nksA Mky & ikr 

gksus nks] rc eq>s rqe [kkukAÞ fpfM;k pha & pha djrh mM xbZA  

 dqN fnu ckn ikuh cjlkA ikuh vkSj /kwi ikdj cht esa vadqj QwVkA 

Izk I fuEufyf[kr iz”uksa ds mRrj ,d & ,d iw.kZ okD; esa fyf[k, A 

    v½ unh ds fdukjs D;k iMk Fkk \         1 

    c½ fpfM;k D;k djus yxh \          1 

    l½ dqN fnu ckn D;k gqvk \               1 

 

 Izk II lgh fo/kku ds lkeus      dk vkSj xyr fo/kku ds lkeus     dk fpg~u yxkvksA    2      

      v½ unh ds fdukjs ,d [kjxks”k vk;kA 

      c½ ikuh vkSj /kwi ikdj cht esa vadqj QwVkA 

 

iz- 3-v] fuEufyf[kr iz”uksa ds mRrj ,d & ,d iw.kZ okD; esa fyf[k, A    5 

       1½ cSyxkMhokyk o`n~/k dkSu Fkk \ 

       2½ csVs D;k lqudj [kq”k gq, \  

√ X 



       3½ jkenhu dks fdldh fpark lrk;k djrh Fkh \ 

       4½ nksuksa Hkkb;ksa ds flj ij D;k Fkk \ 

       5½ ckfydk fnol dc euk;k tkrk gS \ 

     Ck] fjDr LFkkuksa dh iwfrZ dhft, %         5 

           1½ nksuks Hkkb;ksa esa cMk        FkkA  

           2½ txrjke us jktk ls Lo;a dks           djus dh fourh dhA 

           3½ pkjksa ds eu esa         tkx x;kA  

          4½ vc eSa rqe lcds          vk ldrk gw¡A  

          5½ 15 vxLr dks          fnol euk;k tkrk gSA 

     l] fuEufyf[kr okD; fdlus & fdlls dgs gS \         3         

           1½ Þtehu esa xMus nksAÞ 

           2½ Þog lh/ks & lkns LoHkko dk lk/kkj.k fdlku gSAÞ 

           3½ Þikuh ysdj tYnh ?kj igq¡pukAÞ 

    n] fuEufyf[kr esa ls mfpr fodYi pqudj okD; iw.kZ dhft, A              3 

     1½ lkjs mEehnokj deZohj dks ns[kdj g¡lus yxs] D;ksfd --------------------------  

      d] og y¡xMk Fkk A 

      [k] mlds diMs dhpM ls lus FksA 

      Xk] og cgqr nsj ls njckj igq¡pk Fkk A 

 
    

     2½ ,d yMdh f“kf{kr gksrh gS rks  --------------------------  

      d] iwjk lekt f“kf{kr gksrk gSA 

      [k] iwjk ifjokj f“kf{kr gksrk gSA 

      Xk] iwjk ns”k f“kf{kr gksrk gSA 
 

     3½ jk’Vh; R;ksgkjksaokys fnu --------------------------  

      d] ?kjkas esa idoku curs gaS A 

      [k] jk’V/ot Qgjkrs gaS A 

      Xk] njoktksa ij rksj.k ck¡/krs gaS A 
 

Izk 4- ifBr dfork ds vk/kkj ij iz”uksa ds mRrj ,d okD; esa fyf[k, A    5 

              ns”k dh feV~Vh dk d.k & d.k gS] 

              ftUgs izk.k ls I;kjkA 

 

                  iz.kke ,sls ohjksa dks] 

                  lkS & lkS ckj gekjkAA 

  

             ;g ,slh /kjrh gS tgk¡ ij] 

             Xakxk & teuk cgrhA 
 



             ns”k ij ej feVus dh] 

             gjne /kqu lh jgrhAA 

 

            ohjksa ds cfynku ls] 

            pedk fgan oru dk rkjkA 

 

                    ueLdkj ,sls ohjksa dks] 

                    lkS & lkS ckj gekjkAA 

 

Izk I fuEufyf[kr iz”uksa ds mRrj ,d & ,d iw.kZ okD; esa fyf[k, A 

    v½ ns”k dh feV~Vh dk d.k & d.k fdUgs izk.k ls I;kjk gS \     1 

    c½ ohjksa ds cfynku ls D;k ped jgk gS \        1 

    d½ gekjh /kjrh ij fdldh /kkjk cgrh gS \        1 

 

Izk II- fjDr LFkkuksa dh iwfrZ dhft, % 

     v½ ohjksa dks gekjk       ckj iz.kkeA         1 

     c½ ohjksa ds cfynku ls pedk         oru dk rkjkA       1 

 

iz- 5- v] fuEufyf[kr iz”uksa ds mRrj ,d & ,d iw.kZ okD; esa fyf[k, A         3 

 

          1½ var esa cw¡nsa fdlesa fey tkrh gSa \ 

          2½ cjlkr dh cw¡nsa dSls xkrh gSa \ 

          3½ iqjokbZ ds jFk ij p<dj dkSu bBykrh gSa \ 

 

     Ck] fjDr LFkkuksa dh iwfrZ dhft, %         5 

          1½        ij gS vkrh cw¡nsaA 

      2½        eu gj’kkrh cw¡nsaA 

          3½ ;g ,slh /kjrh gS tgk¡          tSlh ifo= ufn;k¡ cgrh gSaA 

          4½ ;g vktknh gesa fdlh ls         esa ugha feyh gSA 

          5½ ;gk¡ ds yksx ns”k ij        ds fy, rS;kj jgrs gSaA 

 

iz- 6-v] lekukFkhZ “kCn fyf[k,A ¼dksbZ rhu½                   3 

       1½ Qk;nk          2½ {ks=       3½ grk”k    4½ xzaFk  
 

     c] fo:n~/kkFkhZ “kCn fyf[k,A ¼dksbZ rhu½                    3 

       1½ toku           2½ ckfydk    3½ ohj     4½ cgqr 
 

     

    l] fyax cnfy, A ¼dksbZ rhu½       3 

       1½ flag            2½ Jheku     3½ cSy     4½ ;qod 
 

     n] opu cnfy, A ¼dksbZ rhu½                 3 

       1½ xk;           2½ vk¡[k       3½ gkFkh       4½ cgu  

 

  

 



    y] js[kkafdr laKkvks ds Hksn fyf[k,A ¼dksbZ rhu½                3 

       1½ gekjh lsuk lhek ij igjk ns jgh gSA  

       2½ lksuk vkSj pk¡nh dherh /kkrq,¡ gSaA 

       3½ HkhM frrj & fcrj gks xbZA 

       4½ gesa jkst nw/k ihuk pkfg,A 
 

    d] js[kkafdr loZuke ds Hksn fyf[k,A ¼dksbZ rhu½                3 

       1½ tks djsxk] lks HkjsxkA  

       2½ eS [kqn rqEgkjs ?kj tkÅ¡xk A 

       3½ dkSu jks jgk gS \ 

       4½ yMdk vius vki fxj iMkA 

    

   [k] js[kkafdr fo”ks’k.k ds Hksn fyf[k,A ¼dksbZ rhu½                3 

       1½ vkdk”k esa vufxur rkjs gSaA 

       2½ eSus ,d ehVj diMk [kjhnkA 

       3½ isM ij lqanj Qwy f[kys gSaA 

       4½ ;g iqLrd esjh gSaA 

 
 

iz- 7- Rkqe Nk=kokl esa dq”ky gks] bldh lwpuk nsrs gq, vius firk th dks ,d i= fyf[k,A 6 

                        vFkok  

      vius fe= dks vius tUefnu ij fuea=.k nsrs gq, i= fyf[k,A 

 

iz- 8-  vifBr xn~;[ka.M ds vk/kkj ij fn, x, iz”uksa ds mRrj fyf[k,A         6 

       ,d xjhc pjokgk FkkA og xk¡o ds nwljs yksxksa dh HksM] cdfj;ksa dks pjkus taxy ys tkrk FkkA 

cspkjk] viuh xjhch ls cgqr nq[kh jgrk FkkA 

       ,d fnu taxy esa pjokgk mnkl cSBk FkkA rHkh ogk¡ ounsoh izxV gqbZA ounsoh us pjokgs dks 

,d dy”k fn;kA  

       ml dy”k ls gj fnu ,d lksus dh eqgj fudyrh FkhA pjokgk /khjs & /khjs vehj gksus yxkA 

mldh xjhch vkSj nq[k nwj gks x,A ijUrq pjokgs ds eu esa ykyp vk x;kA mlus lkspk D;ks uk dy”k 

dks QksM dj lksus dh lkjh eqgjsa ,d lkFk izkIr dj yw \ 

       Pkjokgs us dy”k dks QksM MkykA mls dksbZ eqgj ugha feyhA og feV~Vh dk ,d lk/kkj.k dy”k 

fudykA pjokgk vc iNrkus yxkA  
 

iz”u  

       1½ Pkjokgk dSlk Fkk \ 

       2½ Pkjokgk D;ksa nq[kh jgrk Fkk \ 

       3½ taxy esa dkSu izxV gqbZ \ 

       4½ dy”k ls gj fnu D;k fudyrh Fkh \ 

       5½ pjokgs ds eu esa D;k vk x;k \ 

       6½ bl dgkuh ls gesa D;k lh[k feyrh gS \ 

 

iz- 9- fuEufyf[kr fo’k;ksa esa ls fdlh ,d fo’k; ij vkB & nl iafDr;kass esa fuca/k fyf[k,A      8 

     1½ fiz; f“k{kd   

     2½ fiz; jk’Vh; R;ksgkj   

     3½ fiz; ikyrw tkuoj   

 

 

 
 

“kqHkdkeuk,¡ 

 

 



Bkdqj fon;k eafnj gk;Ldwy vW.M T;qfu;j dkWyst 

fOnrh; l= ijh{kk & 2015-16 

fo’k; & ejkBh                                                                              xq.k & 80 

fnukad % 20 -01 - 2016        b;Rrk & ikpoh                       osG & 2 rkl 45 fe- 

iz- 1yk- v½ [kkyhy mrkjk okpwu iz”ukaph mRrjs fygk 

  leks:u vkiyk filkjk lkojr eksj ;sr gksrk- R;kph ,sVnkj pky vkf.k jaxhcsjaxh ykaclMd  

 filkjk [kwi eksgd fnlr gksrk- frus vkiY;k gkrkrhy fils fuj[kwu cf?kryh- gh fils uDdhp eksjkph 

ukghr] gs fryk tk.koys- rjhgh frus eksjkyk fopkjys] Þvjs eksjk] gh fila dks.kkph vkgsr] gs rqyk ekfgr 

vkgs dk \Þ eksjkus filkps fujh{k.k dsys- rks Eg.kkyk] Þgh rj cndkph vkgsr-Þ  

 feuwyk [kwi vkuan >kyk- frus eksjkyk fopkjys] Þeyk cnd dksBs HksVsy \Þ eksjkus cndkpk iRrk 

lkafXkryk-  

   iz”u %  

v½ [kkyhy iz”ukaph mRrjs fygk-          3 

   1½ eksjkpk filkjk dlk fnlr gksrk \ 

   2½ eksjkpk filkjk ikgwu feuwyk dk; tk.koys \ 

   3½ feuwyk cndkpk iRrk dks.kh lkafXkryk \ 

    

c½  dks.k dks.kkl Eg.kkys -           2 

  1½ Þgh rj cndkph vkgsr-Þ 

  2½ Þeyk cnd dksBs HksVsy \Þ 

   

 vk½ [kkyhy mrkjk okpwu iz”ukaph mRrjs fygk - 

 Ekh f“kokuh- ikpohr f“kdrs- ek>s dqVqac NksVslsp vkgs- vkbZ] ckck] HkkÅ] f“kojkt vkf.k eh- vkbZ 

?kjph lxGh dkes Lor%p djrs- vkEgh fryk enr djrks- ,dnk vkbZus diMs /kqÅu okGr ?kkrys- diMs 

okGY;kuarj HkkÅus R;akP;k ?kM;k d:u Vscykoj Bsoys-  

  

 Lkk;adkGh ikp oktrk ckck ckgs:u vkys- R;akuh vkbZtoG iSls fnys- rs fryk Bsok;yk lkafXkrys-  

   iz”u %  

v½ [kkyhy iz”ukaph mRrjs fygk-          2 

   1½ f“kokuhP;k dqVqackr fdrh ek.kls gksrh \ 

   2½ ?kjkrhy lxGh dkes dks.k djhr vls \ 

    

c½ dks.k rs fygk-             3 

  1½ ikpohr f“kd.kkjh & 

  2½ diM;kP;k ?kM;k ?kky.kkjk &  

  3½ vkbZtoG iSls ns.kkjs & 

 

 

b½ [kkyhy mrkjk okpwu iz”ukaph mRrjs fygk         

 Ekk;k us ikfdV m?kMys- vkrhy i= ckgsj dk<ys- ikgrs rj dk;! vkr dksjk dkxn- fryk vk”p;Z 

okVys- Þdkdkauh dksjk dkxn dlk cja ikBoyk \Þ vlk fopkj djr ek;k js”ekP;k ?kjh xsyh- Þjs”ek gs 

c?k i=! dkdkauh ikBoy vkgs-Þ ek;kus i= js”ekyk nk[koys- Þvax] dkdkauh dksja i= ikBoya- dkghp 

fyfgya ukgh R+++++++ ++++ ++++ ++++ +++ ++++ ++++ ++++ +++ +;koj-Þ 

   

 



 iz”u %   

v½ dks.k dks.kkl Eg.kkys-           2 

   1½  Þgs c?k i=! dkdkauh ikBoy vkgs-Þ 

   2½  Þdkghp fyfgya ukgh R;koj-Þ 

c½ fjdkE;k tkxk Hkjk-           2 

  1½ Ikkgrs rj dk;! vkr        dkxn-  

  2½ ek;kus        m?kMys-  

d½ [kkyhy iz”uakph mRrjs fygk-          1 

  1½ ek;kyk i= dk okprk vkys ukgh \ 

bZ½ [kkyhy mrkjk okpwu iz”ukaph mRrjs fygk 

 ioZrmrkjko:u eh likV eSnkuh Hkkxkr ;srs- vkrk ek>k osx deh >kysyk vlrks- ekÖ;k nksUgh 

fduk ;k ojhy ifjlj eh fgjokxkj djrs- ekÖ;keqGs “ksrdjh “ksrkr Hkjiwj /kkU; fidorkr- i.k eyk ,dk 

xks’Vhph [kar vkgs- eh lxG;kaP;k mi;ksxh iMrs] rjhgh ek.kls ekÖ;k izokgkr lkaMik.kh lksMrkr] dpjk 

Vkdrkr] eyk iznwf’kr djrkr-  

   iz”u %  

v½ [kkyhy iz”uakph mRrjs fygk-  

  1½ unhpk osx d/kh deh gksrks \         1 

  2½ unhyk dks.kR;k xks’Vhph [kar okVrs \        2 

 

c½ fjdkE;k tkxk Hkjk-           2 

  1½ vkrk ek>k        deh >kysyk vlrks-  

  2½ ekÖ;k nksUgh fduk ;k ojhy       eh fgjokxkj djrs- 

m½ [kkyhy mrkjk okpwu iz”ukaph mRrjs fygk 

 *rqepk cSy eh d”kkyk ?ksÅ \ gk ek>kp cSy vkgs- ehp ;kyk ygkukpk eksBk dsyk vkgs-* vlk rks 

dkaxkok d: ykxyk- cSykHkksorh yksdkaph xnhZ teyh-  

 ekyrhP;k y{kkr vkys- gk pksj vkiyk cSy lgtklgth ns.kkj ukgh- dkghrjh ;qDrh dsyh ikfgts- 

frus >Vdu cSykP;k MksG;koj  gkr /kjyk- Þlkax cja] ;kpk dks.krk MksGk v/kw vkgs] Mkok dh mtok \Þ 

ekyrhus pksjkyk fopkjys- pksj xksa/kGyk-  

 iz”u %  

v½ [kkyhy iz”ukaph mRrjs fygk-  

  1½ pksj dk; dkaxkok d: ykxyk \         2 

  2½ ekyrhus ;qDrh djk;ps dk Bjoys \        1 

  3½ ekyrhus dks.krh ;qDrh dsyh \         2 

 

 

 



Izk- 2 jk v½ [kkyhy dfork okpwu iz”ukaph mRrjs fygk-        

  Qqyaosyh et lqeus nsrh]  

   dqBs yOgkGh [ksGr clrh] 

  dqBs vkezr: ekÖ;kojrh]  

   “khry viqyh Nk;k /kjrh- 
 

  Ikk.kh fiÅuh i{kh tkrh] 

   ?kV Hk:uh dks.kh ty usrh]  

  xqjs & okljs toGh ;srh]  

   eqys [ksGrh ykVkaojrh-  

   

eh dks.kkph & eh lokZaph]  

   cka/kqfugh et us.kk ;kaph ! 

  tsFks tkbZu & rsFks Qqyohu] 

   ckx euksgj vkuankph ! 

iz”u %  

v½ [kkyhy iz”ukaph mRrjs fygk-          4 

1½ unhoj “khry Nk;k dks.k /kjrs \ 

2½ eqys dksBs [ksGrkr \ 

3½ Qqyosyh unhyk dk; nsrkr \ 

4½ Uknh tsFks tkbZy rsFks dk; Qqyohy \ 

 c½ dforsP;k vksGh iw.kZ djk-            1 

         Ikk.kh ------------------------------------------------- 

        --------------------------------------------------- ty usrh   

  vk½ [kkyhy dfork okpwu iz”ukaph mRrjs fygk-        

 

NksVsls cgh.kHkkÅ] 

   mn;kyk  eksBkys gksÅ] 

mn;kP;k txkyk] mn;kP;k ;qxkyk  

   uohu vkdkj nsÅ-  

vkslkM] mtkM tkxk]  

   gksrhy lqanj ckxk] 

“ksrkauk] eG;kauk] Qqykauk] QGkauk]  

   Ukohu cgkj nsÅ- 

        

    iz”u %  

  v½ [kkyhy iz”ukaph mRrjs fygk-          5 

  1½ cgh.kHkkÅ dls vkgsr \ 

  2½ cgh.kHkkÅ d/kh eksBs gksrhy \ 

  3½ cgh.kHkkÅ dks.kkyk uohu vkdkj nsrhy \ 

  4½ cgh.kHkkÅ dks.kkyk uohu cgkj nsrhy \ 

  5½ cgh.kHkkÅ ckxk dksBs Qqyfo.kkj vkgsr \ 

 

 



b½ [kkyhy dfork okpwu iz”ukaph mRrjs fygk-       

lq;kZiklqu jax ?ksm;k  

   panzkiklqu “kakrh]  

pepe.kk ;k rk ;kiklqu  

fnO; ?ksm;k dkarh-  
 

Qqykiklquh xa/k ?ksm;k  

   dksdhGkdMqu xk.ks]  

>qG>qG.kk ;k > ;kiklquh  

   ?ksÅ uos rjk.ks-  

    iz”u %  

  v½ [kkyhy iz”ukaph mRrjs fygk-          4 

    1½ panzkiklwu vki.kkl dk; ?ksrk ;sbZy \ 

    2½ lw;kZiklwu vki.kkl dk; ?ksrk ;sbZy \ 

    3½ Qqykiklwu vki.kkl dk; ?ksrk ;sbZy \ 

    4½ dksdhGsdMwu vki.kkl dk; ?ksrk ;sbZy \ 
 

c½ dforsP;k vksGh iw.kZ djk-            1 

 

    >qG>qG.kk ;k ---------------------------------  

       ----------------------- rjk.ks-  

 

 

Izk 3 jk v½ [kkyhy “kCnkauk lekukFkhZ “kCn fygk- ¼dks.krsgh pkj½     4 

        1½ eksj &    2½ panz &   3½ MksGs &  

        4½ “ksr &    5½ Fkd.ks &   6½ thou & 

      c½ [kkyhy “kCnkauk fo:n~/kkFkhZ “kCn fygk- ¼ dks.krsgh pkj ½     4 

        1½ tM x  2½ [kjsnh  x   3½ nkV x 

        4½ myV x 5½ isze  x   6½ vusd x 
 

    d½ [kkyhy “kCnkaph opus cnyk- ¼ dks.krsgh nksu ½       2 

      1½ “kkGk &   2½ iqLrd &  3½ ckx &  

    M½ [kkyhy “kCnkaph fyaxs cnyk- ¼ dks.krsgh nksu ½       2 

     1½ fpe.kh &   2½ dkdk &   3½ HkkÅ &  

   b½ okdizpkj o R;kaps vFkZ ;kaP;k tksM;k ykok-        3 

       v xV             c xV 

   1½ [kwi vkuan gks.ks   1½ tek dj.ks  

   2½eksgd fnl.ks          2½ xkokyk iksgksp.ks  

   3½xksGk dj.ks    3½ vR;kuan gks.ks  

           4½ lqanj fnl.ks 



 

   bZ½ xksykrhy “kCn ykowu uohu “kCn r;kj djk-        2 

               nqdku  

               nw/k 

              iko  

              pVbZ 

              Vkaxk   

 

iz- †Fkk v½ [kkyhy okD;krhy ukes vksG[kk-        2 

     1½ dkoGk >kMkoj clyk vkgs-  

     2½ rkbZ dikV m?kMrs- 

    vk) [kkyhy okD;krhy  loZukes vksG[kk-        2 

      1½ rw eyk iqLrd nss-   

      2½ R;kauh eyk e.kh fnys- 

    b) [kkyhy okD;krhy fo”ks’k.ks vksG[kk-       2 

      1½ unh eatwG xk.ks xkrs-  

      2½ eh fgjosxkj “ksr ikfgys-  

    bZ) [kkyhy okD;krhy fd;kins vksG[kk-       2 

       1½ mek enr dj- 

       2½ ckG jMys-  

    m) [kkyhy okD;krhy fojkefpUgs ?kkywu okD; iwUgk fygk-      1 

       ckbZ ;kyk vkejkbZ dk Eg.kk;ps  

    Å) [kkyhy okD; “kqn~/k djk-          1 

       jkbZ Eg.kts MkV TkkMh-  

 

iz- 5ok- v½ [kkyhy iSdh dks.kR;kgh ,dk fo’k;koj fuca/k fygk      4 

   1½ ek>s vkoMrs QG & vkack  

     eqn~ns %& QG & jax & okl & jktk & po & vkejkbZ & inkFkZ-  

   2½ ek>k vkoMrk l.k & ukrkG  

     eqn~ns %& l.k & uohu diMs & xksM/kksM inkFkZ & ppZ & lakrkDykWt & f[klel Vh-    

   3½ ek>h lk;dy &  

     eqn~ns %&     Okkgu & ba/kucpr & pkds & O;k;ke-  

   4½ eh vkgs eklk  

     eqn~ns %&   Ikzk.kh & “ksiwV & dhVd & [kk.ks & ekuokps vUu-  

 

 

 okys 



vk½ [kkyhy iSdh dks.kR;kgh ,dk fp=kps o.kZu 5 rs 6 okD;kr djk-     4 

 1½ ek>s vkoMrs Qwy xqykc  

   eqn~ns %& Qwy & jax & okl & jktk & 

    mi;ksx & O;olk;- 

 2½ ek>k vkoMrk i{kh eksj  

   eqn~ns %& i{kh &jax & vkokt &   

            fils & ukp & vUu- 
 

 3½ ek>k vkoMrk l.k & fnokGh  

   eqn~ns %& dafny & i.kR;k & jkaxksGh & 

        QVkds & QjkG & diMs-  
 

 4½ vkeph ckx  

   eqn~ns %& [ksG.ks & ckds &  

        Qqy>kMs & eksdGh & gok-  
 

iz- 6ok- [kkyhy mrkjk okpwu iz”ukaph mRrjs fygk   

ldkG gksrkp e/kek”kh e/k xksGk djk;yk tkrs- rh Qqykaoj clrs  o R;krhy e/k xksGk djrs- gk 

e/k rh iksG;kr lkBors- ldkGiklwu rs laË;kdkGi;Zar e/kek”kh gs dke lrr djr vlrs- frus 

lkBoysyk e/k [kwi mi;ksxh rlsp vkS’k/kh  vlrks- e/kek”khP;k iksG;krwu e/k dk<Y;koj ts mjrs R;kyk 

es.k Eg.krkr- 

    iz”u %  

          1½   e/kek”kh e/k dksBs lkBors \         1 

    2½ e/kek”kh fdrh osG dke djrs \         1 

    3½  e/kek”khyk e/k dksBwu feGrks \         1 

    4½ es.k d”kkyk Eg.krkr \          1 

    5½ e/k dlk vlrks \           1 
 

gkfnZd “kqHksPNk 

 

 

 

 

 

 


